University of California, Los Angeles
Department of Statistics

Statistics 13 Instructor: Nicolas Christou
One-way ANOVA - example

Results of a laboratory analysis of calories content of major hot dog brands are given below. Researchers for
Consumer Reports analyzed three types of hot dog: beef, poultry, and meat (mostly pork and beef, but up
to 15% poultry meat). The data are summarized in the table below:

Type n; Ui 57
Beef 20 | 156.85 | 512.66
Poultry | 17 | 118.76 | 508.57

Meat 17 | 158.71 | 636.85

Reference: Moore, David S., and George P. McCabe (1989), Introduction to the Practice of Statistics.
Original source: Consumer Reports, June 1986, pp. 366-367.
Answer the following questions:

a. Construct the ANOVA table and test the hypothesis that the mean calories content for the three types
of hot dogs are equal against the alternative that at least two are not equal. Use a = 0.05. What do
you conclude?

Complete the ANOVA table:

Source  d.f. SS MS F

Between
Within
Total

b. Construct a Bonferroni confidence interval for the difference between the means of beef and poultry. You will
need this value: t9.00833;51 = 2.476. What do you conclude?



